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12|34 5 6 71 8 [ 90| | 12 13][14]15] 16 17 18 19
101KK| 22 [HC| _C_| 3,52 x | 3,00 10,6 1 [028] 0,1 [005 0,05] 1,2 | 1845
vr HC| 3 | 652 x [3.00[19.6 1 [0.28]0.05] 005 0.05] 1,15 | 3275 ©
To] C | 15 | x [ 170[255] 2 [1 [ 1.54] 0.1 | 0.5 03 | 145 2961 | 0 13,0 S
Tin 2,69 | x | 569153 0,75] 0,22 [ 1313
102 KK| 20 [HC| _C_| 3.6 | x | 3,00]10,8 1 [028] 0.1 0,05] 1,15 173,9
TO| C | 1,5 | x | 1,70[2,55] 50 | 1 | 1,54] 0,1 03| 14 [ 2749 | 5521 125,0 8
Tin 322 | x | 389125 0,75] 0,22 [ 1033
103 KK| 20 [HC| _C_| 3.6 | x | 3,00]10,8 1 [028] 0.1 0,05] 1,15 173,9
TO| C | 1,5 | x | 1,70[2,55] 50 | 1 | 1,54] 0,1 03| 14 [ 2749 | 5521 125,0 8
Tin 322 | x | 389125 0,75] 0,22 [ 1033
104 K [18[HC] € | 3 | x [3.00] 9 1 [028] 0.1 0,05] 1,15 | 144,9
TO| C | 1,5 | x | 1,70]2,55] 48 | 1 | 1,54] 0,1 03 | 14 [ 2749 | 4723 63,7 g
Tin 2,62 x [243]637 0,75] 0,22 1| 525
105| K [ 18[HC] € | 3 | x [3.00] 9 1 [028] 0.1 0,05] 1,15 | 144,9
TO| C | 1,5 | x | 1,70]2,55] 48 [ 1 | 1,54] 0,1 03 | 14 [ 2749 | 4723 637 2
Tin 2,62 | x | 243637 0,75] 0,22 1| 525
106 kK| 20 [HC] € [ 36 | x [3,00]108 1 [028] 01 0,05] 1,15 1739
TO| C | 1,5 | x | 1,70]2,55] 50 [ 1 [ 1,54] 0,1 03| 14 [ 2749 | 5521 125,0 8
Tin 322 | x | 389125 0,75] 0,22 [ 1033
107KK| 20 [HC| _C_| 3.6 | x | 3,00]10,8 1 [028] 0.1 0,05] 1,15 173,9
TO| C | 1,5 | x | 1,70[2,55] 50 | 1 | 1,54] 0,1 03| 14 [ 2749 | 5521 125,0 8
Tin 322 | x | 389125 0,75] 0,22 [ 1033
108 KK| 22 [HC| _C | 3,52 | x | 3,00]10,6 1 [028] 0,1 [005 0,05] 1,2 | 1845
yr HC[ B [e52] x[3.00]196] , [ 1 [028] 01005 0.05| 12 [ 3418 | oo 153.0 =
TO| C | 1,5 | x | 1,70]2,55 11,54 0,1 [ 0,05 0,3 | 1,45 ] 29,1 %
Tin 2,69 | x | 569153 0,75] 0,22 [ 1313
109 KK| 22 [HC| 10 | 3,52 | x | 3,00 10,6 1 0,28 0,1 0,05] 1,15 176,8
yr HC[ B [e52] x[3.00]196] o, [ 1 [028[ 01 01 0.05] 1251 3560 | o5 153.0 N
TO| 10 | 1,5 | x | 1,70]2,55 1 [1,54 0,1 03 | 1.4 | 2859 =
Tin 2,69 | x | 569153 0,75] 0,22 [ 1313
110 KK| 22 [HC| 10 | 4,12 | x | 3,00 12,4 1 0,28 0,1 0,05] 1,15 | 207,0
yr HC[ B [320] x[3.00]9.66] o, [ 1 [028] 01 ] 01 0.05| 1251 1758 | ¢ 183.0 @
TO| 10 | 1,5 | x | 1,70]2,55 1 [1,54 0,1 03 | 1.4 | 2859 S
Tin 322 | x | 568183 0,75] 0,22 1| 1569
11| K | 18[HC| 10 | 3.6 | x | 3,00]10,8 1 0,28 0,05] 1,05 | 1524
TO| 10 | 1,5 | x | 1,70[2,55] 48 [ 1 | 1,54 03 | 1.3 | 2450 | 4599 78,9 %
Tin 245 | x | 322]7,89 0,75] 0,22 1| 625
112 K | 18[HC| 10 | 3.6 | x | 3,00]108 1 0,28 0,05] 1,05 | 1524
TO| 10 | 1,5 | x | 1,70[2,55] 48 [ 1 | 1,54 03 | 1.3 | 2450 | 4599 78,9 %
Tin 245 | x | 322]7,89 0,75] 0,22 1| 625
113KK| 20 [HC| 10 | 3 | x [3,00] 9 1 0,28 0,05] 1,05 | 1323
TO| 10 | 1,5 | x | 1,70]255] 50 [ 1 | 1,54 03 | 13 | 2553 | 4747 106,0 2
Tin 2,62 | x | 403106 0,75] 0,22 | 87,1
114[KK| 22 [HC| 10 | 4,12 | x | 3.00 [ 124 1 [0.28 0.1 0.05] 1,15 | 207,0
yr HC| 3 [ 322 x | 3,00]9,66 1 [0,28]0,05] 0.1 0,05 1,2 | 168,38 ©
To] 10 | 15 | x | 170]255] 22 [ 1 |14 0,1 03| 1.4 | 2859 | °189 183,0 e
Tin 322 | x | 5.68]183 0,75] 0,22 1| 1569
115KK| 22 [HC| 10 [ 3,52 | x | 3.00 [ 10,6 1 [0.28 0.1 0.05] 115 | 1768
yr HC| 3 | 652 x | 3,00]196 1 [0,28]0,05] 0.1 0,05] 12 | 3418 .
To] 10 | 15 | x | 170 255] 22 [ 1 |14 0,1 03| 1.4 | 28590 | 13,0 S
Tin 2,69 | x | 569153 0,75] 0,22 [ 1313
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201 KK| 22 [HC| € [ 3,52 x [ 3,00 10,6 1 |028] 0,1 0,05 0,05] 12 | 1845 R
yr HC| 3 [ 6,52 x | 3,00]19,6] 52 1 [0,28]0,05] 0,05 0,05] 1,15 | 327,5 | 808,1 153,0 2
10| C | 15| x | 1,70 2,55 1 | 1,54] 0,1 | 0,05 03 | 1,45] 296,1
202[KK| 20 [HC| C | 3.6 | x [3,00]108] | 1 [028] 0.1 0.05| LIS | 1739 | ,4e¢ 1250 =
10| ¢ [ 15| x[1,70[255 1 [1,54] 0.1 03| 1,4 [ 2749 ’ ’ “
203[5KK| 20 [HC| C | 3.6 | x [3,00]108] | 1 |028] 0.1 0,05| LIS | 1739 | ,uq 1250 3
TO| C | 1,5 | x | 1,70 | 2,55 1 |1,54] 0.1 03| 14| 2749 ’ ’ i
204 K [18[HC| C | 3 | x[300] 9 |,]| 1 ]028]o01 0.05| LIS| 1449 | , 0 6.7 2
T0| € | 1,5 ] x| 1,70]2,55 1 |{1,54] 0.1 03] 1,4 | 2749 ’ ’ ©
205| K [18[HC| C | 3 | x [300] 9 || 1 ]028] 01 0.05| LIS | 1449 | , 0 3.7 ©
10| C | 15| x | 1,70 2,55 1 | 1,54] 0,1 03] 14 | 2749 ’ ’ “
2065KK| 20 [HC| C | 36 | x [3,00]108] | 1 |028] 0,1 0,05 LIS | 1739 | ,uq 1250 =
1O ¢ [ 15[ x[1,70]255 1 [1.54] 0.1 03] 1.4 ] 2749 ’ ’ «
207]5KK| 20 [HC| C | 3.6 | x [3,00]108] | 1 [028] 0.1 0.05| LIS | 1739 | ,4e¢ 1250 =
10| ¢ [ 15| x[1,70[255 1 [1,54] 0.1 03| 1,4 | 2749 ’ ’ “
208 kK| 22 [HC| € 3,52 x [ 3,00 10,6 1 |028] 0,1 0,05 0,05] 1,2 | 1845 R
yr HC| B | 6,52 x | 3,00]19,6]52] 1 [028] 0.1 | 0,05 0,05 1,2 | 341,8 | 8224 153,0 g
10l C | 15] x|1,70[2,55 1 |1,54] 0,1 ] 0,05 03 | 1,45] 296,1
209 kK| 22 [HC| 10 [ 3,52 x [ 3,00 10,6 1 |0,28 0,1 0,05] 1,15 176,8 .
yr HC| B [ 6,52 x | 3,00[196]52] 1 [028] 0,1 | 0,1 0,05] 1,25 356,0 | 818,7 153,0 g
1ol 10| 1,5 | x [ 1,70[2,55 1 [1,54 0,1 03] 14 | 2859
210 kK| 22 [HC[ 10 [ 4,12 x [ 3,00 12,4 1 |0,28 0,1 0,05] 1,15| 207,0 .
yr HC| B [ 322 x [ 3,00[966]|52] 1 [028] 01| 0,1 0,05] 1,25 175,8 | 668,7 183,0 E2
1ol 10| 1,5 | x [ 1,70[2,55 1 [1,54 0,1 03] 14 | 2859
211] K |18 |HC| 1O | 36 | x [3,00]108] | 1 |028 0.05) 1,05 | 1651 | o0 8.9 o
1ol 10| 1,5 | x [ 1,70[2,55 1 [1,54 03] 1,3 [ 2655 ’ ’ “
212 K | 18 |HC| 1O | 36 | x [3,00]108] | 1 |028 0.05) 1,05 | 1651 | o0 ¢ 8.9 o
ol 10| 1,5 | x [ 1,70[2,55 1 [1,54 03] 1,3 | 2655 ’ ’ “
213[5KK| 20 [HC| 0 | 3 | x [300] 9 | | 1 ]028 0.05) 1,05 | 1376 | 4054 106.0 =
1ol 10| 1,5 | x [ 1,70[2,55 1 [1,54 03] 1,3 | 2655 ’ ’ N
214 KK| 22 [HC| 10 | 4,12 x | 3,00 12.4 1 028 0,1 0,05] 1,15| 207,0
yr Hc| 3 [ 322 x [3,00[9.66]52[ 1 [028]0,05] 0,1 0,05 12| 168,8 | 661,6 183,0 g
1ol 10| 1,5 | x [ 1,70[2,55 1 [1,54 0,1 03] 14 | 2859
215/ KK| 22 [HC| 10 | 3,52 | x | 3,00 | 10,6 1 028 0,1 0,05] 1,15| 176,8
yr Hc| 3 [652] x [3,.00[196]52[ 1 [028]0,05] 0,1 0,05 12 | 341,8 | 804,5 153,0 2
1ol 10| 1,5 | x [ 1,70[2,55 1 [1,54 0,1 03] 14 | 2859
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112]3]4] 5 6 78] ool [ 2] 13]14]15 16 17 18 19
401 kK[ 22 [HC] € [3,52] x [3,00]106 1 [028] 010,05 0,05] 1,2 | 184,
yr HC| 3 [652] x [3.00]196],[ 1 [028[0.05]0.05 0.05] LIS 3275 | g0 5 153.0 ©
TO| C 1,5 | x [1,70]2,55 1 [1,54] 0,1 [ 0,05 03 [ 1,45 [ 296,1 ®
IIT 2,69 x [5,69][153 0,9 [0,21 1 | 1504
402 kK[ 20[HC] € | 3.6 | x [3,00][108 1 [028] 0,1 0,05] 1,15] 173.9
TO| C 15 | x [1,70]2,55] 50 1 [1,54] 0,1 03] 1,4 ] 2749 | 567,1 125,0 g
IIT 322 x [3,89]12,5 0,9 [0,21 1 | 1184
403 kK[ 20[HC] C | 3.6 ] x [3,00][108 1 [0,28] 0,1 0,05] 1,15] 173.9
TO| C 15 | x [1,70]2,55] 50 1 [1,54] 0,1 03] 1,4 ] 2749 | 567,1 125,0 g
IIT 322 x [3,89]12,5 0,9 [0.21 1 | 1184
404| K [18[HC] C 3 | x[300] 9 1 [0,28] 0,1 0,05] 1,15 139,1
TO| C 15 | x [1,70]2,55] 48] 1 [1,54] 0.1 03] 1.4 | 2639 ] 4608 63,7 3
I1T 2,62 | x [243]637 090,21 1 57,8
405| K [18[HC] C 3 | x[300] 9 1 [0,28] 0,1 0,05] 1,15 139,1
TO| C 15 | x [1,70]2,55] 48] 1 [1,54] 0.1 03] 1.4 | 2639 ] 460,8 63,7 S
IIT 2,62 | x [243]637 0,9 [0,21 1 57,8
406| kK[ 20 [HC| C | 3.6 | x [3,00]108 1 {028 0,1 0,05] 1,15 173,9
TO| C 1,5 | x [ 1,70]2,55]50] 1 [1,54] 0,1 03] 1,4 ] 2749 | 567.1 125,0 g
IIT 322 x [3,89]12,5 0,9 [0,21 1 | 1184
407| kK[ 20[HC] C | 3.6 | x [3,00][108 1 [0,28] 0,1 0,05] 1,15] 173.9
TO| C 15 | x [1,70]2,55] 50 1 [1,54] 0,1 03] 1,4 ] 2749 | 567,1 125,0 g
IIT 322 x [3,89]12,5 0,9 [0.21 1 | 1184
408 kK[ 22 [HC| € [3,52] x [3,00]106 1 [028] 010,05 0,05] 1,2 | 184,
yr HC| B |652] x |300][196],f 1 [028] 0.1 [005 005] 12 | 3418 | oo ¢ 153.0 S
TO| C 1,5 | x [1,70]2,55 1 [1,54] 0,1 0,05 03 [ 1,45 [ 296,1 %
IIT 2,69 x [5,69][153 0,9 [0.21 1 | 1504
409 KK| 22 [HC| 10 [3,52] x [3,00]106 1 0,28 0,05 0,05] 1,1 | 169,1
yr HC| B |652] x |300][196],f 1 [028] 0.1 [005 005] 12 | 3418 | o3 153.0 3
o] 10 [ 1,5 [ x[1,70[2,55 11,54 0,05 03[ 1,35] 2757 e
IIT 2,69 x [5,69][153 0,9 [0,21 1 | 1504
410 KK[ 22 [HC| 10 [4,12] x [3,00]124 1 10,28 0,05 0,05] 1,1 | 198,0
yr HC| B [322] x |3.00]9.66,f 1 [027] 0.1 [0,05 005] 12 [ 1628 | ¢, 183.0 @
o] 10 [ 1,5 [ x[1,70[2,55 11,54 0,05 03[ 1,35] 2757 °
IIT 322 x [5,.68]183 0,9 [0.21 1| 179.8
411] K [18]HC[ 10 [ 3,6 [ x [3,00[108 1 {028 0,05 1,05 ] 152,4
o] 10 [ 1,5 [ x[1,70[255|48[ 1 [1,54 03[ 1,3 | 2450 | 469,0 78,9 S
IIT 2,45 | x [3,22]7.89 0,9 [0.21 1 71,6
412] K [18[HC] 10 | 3.6 | x [3,00][108 1 10,28 0,05] 1,05] 1524
o] 10 [ 1,5 [ x[1,70[2,55|48[ 1 [1,54 03] 1,3 ] 2450 | 469,0 78,9 S
IIT 2,45 | x [3,22]7.89 0,9 [0.21 1 71,6
413| KK 20 [HC| 1O 3 | x[300] 9 1 10,28 0,05] 1,05] 127,0
o] 10 [ 1,5 [ x[1,70[255|50[ 1 [1,54 03] 1,3 ] 2553 ] 482,0 106,0 2
IIT 2,62 | x [4,03]106 0,9 [0.21 1 99,8
414|KK[ 22 [HC| 10 [ 4,12 x [3,00]12,4 1 {028 0,1 0,05 1,15] 207,0
yr HC| 3 [322] x [3,00][9,66 1 10,28[0,05] 0,1 0,05] 1,2 | 16838 oo
o] 10 [ 1,5 [ x[1,70[2,55 2 1,54 0,1 03[ 1,4 | 2859 8414 183,0 8
IIT 322 x [5,.68][183 0,9 [0,21 1| 179.8
415 KK[ 22 [HC| 1O [3,52] x [3,00]10,6 1 {028 0,1 0,05 1,15] 176,8
yr HC| 3 [652] x [3,00]196 1 10,28[0,05] 0,1 0,05 1,2 | 3418 ~
o] 10 [ 1,5 [ x[1,70[2,55 2 1,54 0,1 03[ 1,4 | 2859 934.9 153,0 @
IIT 2,69 ] x [5,69][153 0,9 [0,21 1 | 1504
BCEI'O [0 OTAXKY 8221,7
ue| 10 [ 26 x| 12 [31.2 1 [0,28[0,05 0,05] 1,1 | 442,04
o 10 [ 1,5 x] 1,7]255 1 [1,54]0,05 03 [ 1,35 [ 243,87 -
nk | 16 | nr 2,62 x [5,69]149]46[ 090,21 1 | 129,61] 1186,6 ®
1 2,62 | x [5,69]14,9 0,75 0,22 1 | 113,15 -
n 2 [x[12]24 1 046 4,08 5,08 | 257,98
[BCEr0 10 3J1AHUIO | 30736,9 |




